HONORS LESSON

Find the factors and check by multiplying.

1. X°-1= 2. X°-36=
3. Y2-16= 4. A2-B2=
5. A2_49 = 6. B®-25=
7. Y2 -Xx% = 8. X2-4-=
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HONORS LESSON 25B

9. A°- 144 = 10. 4X%-4Y% =
11. B2-64 = 12. X2-81 =
13. 57 14, 752 =

x 573
15. 35 16. 96

X x 9 4
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SYSTEMATIC REVIEW

Find the factors.

1. X2 -16 =

Find the missing factor.

5. X -1/ 2X% +3X + 5

Find the square root.

7. \4x? =
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2. Check #1 by multiplication.

4. Check #3 by multiplication.

6. Check #5 by multiplication.

8. Check #7 by substituting 10 for X,

then multiplying to find the product.
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SYSTEMATIC REVIEW 25C

Solve using Oriental Squares.

306

g,

11.

13,

14.

15.

16.

17.

18.

19

28,

452 = 10. 37

Find the factors. X? - 18X + 77. 12. Check #11 by multiplication.

(2°)°=

What is the slope of 2Y - 3X + 6 = 0?

What is the point (0, 0) on a graph called?

Distribute and fill in the blanks:
D+2)X+3)=DX+3)+2X +3) = + + +

If the federal debt of the U.S. is five trillion dollars, and there are 300

million people, and each person gave $1,000, would that be enough to pay
the debt?

EEEEEEINENEE
et + EREm
24Y + 12X = 36 and 5Y - 5X = 10. ﬁ] | ’ 1] 1]

O,
Graph 3Y < 2X + 6. FT — | !r | |

SEENENENNEEE
Will _the poi_nt (—3, -4) satisfy L~ﬁt4f 7“ [ T 4\‘ ! |
the inequality in #19? R = 0 fi \ ’1 ‘% T { % ‘\ [7 |

|
|
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SYSTEMATIC REVIEW

Find the factors.

1. X2-4=

Find the missing factor.

5. X+212X2+ 7X + 6

Find the square root.

7. VX2+10X+25=

Solve using Oriental Squares.

9. 652 =
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2. Check #1 by multiplication.

4. Check #3 by multiplication.

6. Check #5 by multiplication.

8. Check #7 by substituting 10 for X,

then multiplying to find the product.

10. 78
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SYSTEMATIC REVIEW 25D

11. Find the factors of X2 + 3X - 4. 12. Check #11 by multiplication.

13. (49)3 = 7 14. What is the slope of 4Y + 8X + 2 = 0?

15. Distribute and fill in the blanks:

A+B)(C+D+E)=A( + + )+B( + + )=

+ + + + +

16. If the federal debt of the U.S. is five trillion dollars, and there are 300
million people, and each person gave $10,000, would that be enough
to pay the debt?

FOR #17-18: FOR #19-20:
Fill in the table for all the Fill in the table for all the
possible whole number options possible whole number
for walking rate and time if the options for walking rate and
distance is 20 miles. time if the distance is 12 miles.
Rate Time Rate Time
20 mph 12 mph
10 mph | 2hr
4 hr 4mph |
4 mph 3 mph
20 hr 6 hr
_ {12hr
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